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Grop I : Accounts

Far wE
COST ACCOUNTING-2014
ufteaa dErERT
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Section A,B and C are compuisory for all- Regular, Private and
Old ATKT students. Please follow the instructions, given in
each section. Marks distribution for all srudents are as shown in
question paper.

TUE 31 TP Section A : Objective
[Regular 15 x 1 = 1§/ Pvt. 1§ x 1 = 15/00d ATKT 15 x 1 = 15)
ANTd SAGIHA &l Uk AAIH T 8
(M) ¥ (@) gWEa (") §eA (]) 3N
Cost Accounting is an essential tool of the:
(a) Management (b} Administration
(c) Organisation (d) Entreprencur.

[SILG]

(37) FHen CIRERICH

() &en ud forgm (2) 8 | ®ig

Cost Accounting is:

(a) Art  (b) Science (c) Artand Science (d) None of these.
i :

(31) &l (1) SEreTE & s

(R) 3T & WM () T ¥ F§ 748

Cost Accounting is:

(a) A part of bookkeeping (b) A part of accounting
(c) Partof auditing (d) All of the above.
ST AT UH Faferd 39era % ai # @@d @

(37) AR APT (@) §& ST

(9) Hr@r=1 |arra (]) ITEA ANl

Total of works cost and office overhead are known as:

(a) Direct cost
('c) Works cost

ftagr gea giar @:
(1) s g

(F) ¥AY g9

A tender price is:
(a) Estimated price
(c) Standard price
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(b) Prime cost
{d) Cost of production.

(%) arefad qeo _
(=) 3 A @ & 78

(b) Actual price
(d) None of the above.
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A gueT ot ygfa ® weiia &1 5 &

(37) war faan () AVTE T

(F) &I S (T) 39 | FE 72
Under Machine Hour Rate method a machine is treated as:
(a) Service department (b) Cost unit

(¢) Cost centre . (d) None of these.

S arra fafy § 3 @ daw fear s 2

(37) 3H TN TN (%) 3FR T

(9) () ud (&) g (%) 31 | & 78

In contract costing contract A/c is prepared by:

(a) Contractee (b) Contractor

(c) Both(a) and (b) (d) None of these.
yftater @ fafa s & S @

(37) IrarETd HaEd § (9) gleet sAradg
(8) eregare | (%) Sudaq |t
Operating costing method is used in:

(a) Transport business (b} Hotel business
(¢) Hospital (d) All of the above.
ftarer ST UEE § ol & aniga R S e

(37) fer g sftadasfia (@) Faa fer

(@) @ae ftadasie () 3w § ¥ &
In operating cost sheet, costs are classified into:

(a) Fixed and variable (b) Only fixed

(¢) Only variabe (d) None of the above.

W& i § areafas gifa, e Bl 8 aifhes et @ o 9 & we

I 3T FHEeral &;
(37) 9T &9 () 9 T94q
(¥) 91 §<9d (%) STEMIS 941

When actual loss in process in more than the normal loss, the

difference between the two is known as :
(a) Normal wastage (b) Normal effectives
{c) Abnormal wastage (d) Abnormal effectives.

fr #§ / wh-w we ara a9 J wmite 78 @i ot @

(31) FR@W F (/) qsft T s

(|) fasme= =4 (2) 39dad 9+l

Which of the following item is not included in cost A/c:

(a) Rent of factory (b) Intreset on capital
(¢) Advertising expenses (d) All of the above.
arma S AR AR o & aRomEl # arat & S

(37) Iufegat A 3= OEGEEE TR ot

(R) afe @Y & egiaa § e () sudad &+l

Cause of difference between the result of Cost A/c and Financial A/c;

(a) Difference in overheads
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(.b') Defference in charging depreciation
(¢) Difference in valuation of closing stock
(d) All of the aboye

anTa s @ R @ _
(37) | . (@) THATHS

(®) (31) w8 (@) A GE

The object of cost auditis:

(a) Protective (b) Constructive

(¢) (a) and (b) both (d) None of these.

14. feor arE # 3fe & gefaess g W

(37) T4 | @) 3fg |
(@) F1§ gftad = () g & = T
15, wnfawde [ ag ¢ wwl
(a)ﬁmail%mﬁm ('ﬂ)l’?{ﬁﬁﬁtﬁlﬂ?ﬁﬁé
(W) Ifrhan apq g 8 () 4 @, 7 Ff &d 2
&f?rﬁ;:xgm;::rﬁu‘;\hg:ﬁi‘it (b) These is minimum 10ss

{c) There is maximum profit
(d) There is peither profit nor 108s.

@VE & ; ey IWhA Section B : Short Answer
[Regular s x 4 = 20/Pvt. S x § = 25/01d ATKT 5 x 3 =151
AT % [l o] o da # aviq wif)
Briefly describe the different elements of Cost.
94l OR
amif frae & g @ e s
Descuss the ghvantages of material control.
FA TIE ] sy AT
Give a specimen of cost sheet.
Fgal OR

TEE AMA Sgigs & famant r?lm'gl
Write a salien ures of unit costing.

3% W F:r;e; o o A & sl
Explain the pyles for the calculation of profit on an incomplete
contract

AT OR
AT T F; farer A e & g
Give a specimen of operating cost sheet of a transport company.
wiwal aferters ) gmr frdward, fafau)
Write the ge neral features of process costing.
HEa OR

34 T B sy e o W wfterie ] @

Name the inystries where process costing is applied.
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AR vy e &7 wHEEW
What is Brenk gyen point/ Explain,
FH9q OR
AT SHHTUT 3, ggen 70 €7
What are the gpjectives of cost Audit? -
WUE ¥y ; &y Ferdta Section C : Long Ans )

(Regular § o 10 = 40/ PvL. 5 x 12 = GOIOIdATKquS\: 8 4‘;2_
e T sy Wﬁmﬂﬁ:ﬁﬁmm m‘*"‘g{’
& 8 N oy fo e Fostn e 3 v 6 0w 6
Describe brj efly the different methods of costing a S
particular iy gpufacturing industries to which each canbe dp

YA OR

w o e w it ) wme, swe e el # ewemy ok
77« FaT & oTew fmw # o ¥ w9 faf vl wiem e )
Explain the main methods of pricing issues of materials and state
which of these methods is, in your opinion, the most accurate.
T T, 2012 & TERA & wwmN ¥ fitey seeiE &
Following information are given ragarding production for the
month of August, 2012:

ST 80,000 F; WTIE HW 48,000 T, WIS & 9V 8,000
T 90T W 4 F97 W 0T, Frtey R=e, SREE T 5

10%; fa=a 3ufi=re 1.50 392 w3 99, 3me 4,000 1384 fams
3,600 3F¢ET 50 IUR WY vEE & = R

Material Rs. 80,000; Direct labour Rs. 48,000; Machine hours
8,000; Machine hour rate Rs. 4 per hour; Office overheads 10%
of work cost; selling overheads Rs. 1.50 per unit; Production
4,000 unit; Sales 3,600 unit Rs. S0 per unit.

Prepare a statement showing cost per unit and profit of the month.

AGET OR

Frafefas g @ wvi= 4. 18 & g 3w wvar @ 9= ST

From-the following information, find out the machine hour rate
for machine no. 18:

=3R ;| WA

Cost of Machine 11,000 ¥57
LY

Scrap Value 680 FT
FrTe e W g T

Repairs for Working Life 1,500 9
fer =7 4 v amfy &g

Standing Expenses for 4 Weeks Period 1,600 377
SHIEETS HETT SET e

Effective Working life 10,000 Hours
-6 g2 ofF wver = s R ufy ofe
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Power-6 units per hour @ 5 paise per unit

4 FTR ¥afy § Sifes g2
Operating hours during 4-weeks peri 120 Hours.
HETTE X F@ A9 vE ¥ 40 €, mﬁﬁmmw;‘g

a7 T #)

There are 40 machine in number in the workshop, each bearing
equal overhead d charges.

3. AR ¥ 3E W TR 4 SUEl qew e I
From the informations given below prepare Contract Account
and show Tender Price-

899 Rs.
FTHEA Meterials 3,000
I7TEE =gl Productive Wages 2,400
wtae WE (ffice Expenses 20% of works cost
FEET Y Works Expenses 80% of production wages
T TR T 25% FIEIAE TTH g7 gL 2vE geg & ity Sifew
Tender price is the be quoted after adding 25% as estimated
profit on totol cost.
#ea OR
T TEE &, freites guan vefiEm wd g
X Transport Company Shows the following information:
g 3T < W &l km. runinApril 40,000 km.
T HET T Wages for April %93 5,000
= ¥iF w T STEF Petrol Oil for April 9T 6,000
ATE= F T @7 Original Cost of Vehicle ¥72 3,00,000
TR FRT o AOSA T
Repair for Month of April 93 3T 2,000
Y & woaw, 9 3G
Llcence Insurance etc. for the Year T2 18,000
TE W IF ®E W 20% & EN Sered & 8
Depreciaion to be allowed 20% p.a. on original cost of vechile.
TRTE T 9% §4TT Prepare Operating Cost She.et

4. ABTT CINE H Y I AT 3,00,000 T §1 I
IS <O e AEE TS A 22 T8
Joint Cost of producm’l of products A, B and C is Rs. 3,00,000
Unit produced and selling price is give below:

TEEA TanfEn vyt fawg 7= sf=m ==

Product | Unit Produced Selling price | Closting Inventory

¥93 (Rs.) THE (Units)

O W

50,000 S.00 1,200
30,000 3.00 800
10,000 2.00 1,000
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T IEIEA T S AR % 300 W T qedie Hiau)
Calcualite the value of ending inventory after allocating the Joint
Cost of production.

_ FTE OR
g A T T S & e F) AR #7487 8 A SR
& T HAT T
What is the purpose of reconciling cost and financial accounts ?
Indicate the possibe soures of difference between them.

fem T 2: Given:

!Wa Rs.
ufigeeftel @mTa (Variable Cost per Unit) 15
Wit &9 (Fixed Expenses) 1,08,000

T I (31) @E-wH fig (W) Ak @ve-wn fasg der g
12,000 FHEA T 30 A a ufy swE fasa wea F @

Calculate: (a) Break-even point (b) What should be the selling
price per unit if the Break-event point is brought down to 12,000?

NATAT OR
APIT i ] 1T 91 HHwd 827 39S ol &) e S

What do you understand by cost Audit? Exaplain its advatages.
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